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QUESTION 1

Which of the following is a potential advantage of using Storage as a Service? 

A. Data is accessible when the Internet is not functioning 

B. In-house IT staff controls all data 

C. Increase in encryption technologies 

D. Decrease in IT management of the platform 

Correct Answer: D 

One advantages of SaaS is that is makes it easy to "mobilize" your workforce because users can access SaaS apps
and data from any Internet-connected computer or mobile device. You don\\'t need to worry about developing apps to
run on different types of computers and devices because the service provider has already done so. In addition, you
don\\'t need to bring special expertise onboard to manage the security issues inherent in mobile computing. A carefully
chosen service provider will ensure the security of your data, regardless of the type of device consuming it. 

References: https://azure.microsoft.com/en-us/overview/what-is-saas/ 

 

QUESTION 2

Which of the following describes what is meant by the ITIL Service Strategy component? 

A. Defining processes required to manage the solution. 

B. Designing the solution to the ITIL specifications. 

C. Ensuring changes are designed to meet customer expectations. 

D. Understanding the intended customer and what services are required. 

Correct Answer: D 

The objective of ITIL Service Strategy is to decide on a strategy to serve customers. Starting from an assessment of
customer needs and the market place, the Service Strategy lifecycle stage determines which services the IT
organization is to offer and what capabilities need to be developed. Its ultimate goal is to make the IT organization think
and act in a strategic manner. 

References: http://wiki.en.it-processmaps.com/index.php/ITIL_Service_Strategy 

 

QUESTION 3

You need to find all existing works about World History that are overdue and are stored in the repository. 

How should you complete the relevant code? To answer, select the appropriate option or options in the answer area. 

Hot Area: 
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Correct Answer: 

 

QUESTION 4

You deploy an application as a cloud service in Azure. 

The application consists of five instances of a web role. 

You need to move the web role instances to a different subnet. 

Which file should you update? 

A. Service definition 

B. Diagnostics configuration 
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C. Service configuration 

D. Network configuration 

Correct Answer: C

 

QUESTION 5

Which of the following is not a requirement for creating an online secondary for SQL Database? 

A. They must be on separate servers. 

B. They both must be on the different subscription. 

C. The secondary server cannot be a lower performance tier than the primary. 

D. The secondary database must have the same name as the primary. 

Correct Answer: C 

Explanation 
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